
1-10 90 80 70 60 50 40 30 20 10 0

1) 8×5+{90÷3}+8+4+1
8×5+30+8+4+1

40+30+8+4+1

70+8+4+1

78+4+1

82+1

83

2) 6+8-7+{7+6-95÷1}
6+8-7+{7+6-95}

6+8-7+{13-95}

6+8-7+{-82}

6+8-7+-82

14-7+-82

7+-82

-75

3) [ 3×2×5-51÷1]×8 -4
[6×5-51÷1]×8-4

[30-51÷1]×8-4

[30-51]×8-4

[-21]×8-4

-21×8-4

-168-4

-172

4) {7 -8+5×7-8×81}×7
{7-8+35-8×81}×7

{7-8+35-648}×7

{-1+35-648}×7

{34-648}×7

{-614}×7

-614×7

-4298

5) 8+1×[2 -2 ]+1×8+8
8+1×0+1×8+8

8+0+1×8+8

8+0+8+8

8+8+8

16+8

24

6) 6×{6-8 -48}×8-1+8
6×{-2-48}×8-1+8

6×{-50}×8-1+8

6×-50×8-1+8

-300×8-1+8

-2400-1+8

-2401+8

-2393

7) 6 -2+[5 -6 ] -40÷5×6
6-2+[-1]-40÷5×6

6-2+-1-40÷5×6

6-2+-1-8×6

6-2+-1-48

4+-1-48

3-48

-45

8) 8 -1+8-60÷[4 -7 ] -7
8-1+8-60÷[-3]-7

8-1+8-60÷-3-7

8-1+8+20-7

7+8+20-7

15+20-7

35-7

28

9) [ 35÷7×7-1+2]+7×8
[5×7-1+2]+7×8

[35-1+2]+7×8

[34+2]+7×8

36+7×8

36+56

92

10) 9×(3 -50÷2-5 )+6×3
9×(3-25-5)+6×3

9×(-22-5)+6×3

9×(-27)+6×3

9×-27+6×3

-243+6×3

-243+18

-225

1. 83

2. -75

3. -172

4. -4,298

5. 24

6. -2,393

7. -45

8. 28

9. 92

10. -225

     

Evaluate each expression.

Using Order of Operations
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5) 8+1×[2 -2 ]+1×8+8
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8+0+8+8

8+8+8

16+8

24
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6×{-50}×8-1+8

6×-50×8-1+8
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-2400-1+8
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7) 6 -2+[5 -6 ] -40÷5×6
6-2+[-1]-40÷5×6

6-2+-1-40÷5×6

6-2+-1-8×6

6-2+-1-48

4+-1-48

3-48

-45

8) 8 -1+8-60÷[4 -7 ] -7
8-1+8-60÷[-3]-7

8-1+8-60÷-3-7

8-1+8+20-7

7+8+20-7

15+20-7

35-7

28

9) [ 35÷7×7-1+2]+7×8
[5×7-1+2]+7×8

[35-1+2]+7×8

[34+2]+7×8

36+7×8

36+56

92

10) 9×(3 -50÷2-5 )+6×3
9×(3-25-5)+6×3

9×(-22-5)+6×3

9×(-27)+6×3

9×-27+6×3

-243+6×3

-243+18
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Modified 1-8 88 75 63 50 38 25 13 0

1) 8×5+{90÷3}+8+4+1
8×5+30+8+4+1

40+30+8+4+1

70+8+4+1

78+4+1

82+1

83

2) 6+8-7+{7+6-95÷1}
6+8-7+{7+6-95}

6+8-7+{13-95}

6+8-7+{-82}

6+8-7+-82

14-7+-82

7+-82

-75

3) [ 3×2×5-51÷1]×8 -4
[6×5-51÷1]×8-4

[30-51÷1]×8-4

[30-51]×8-4

[-21]×8-4

-21×8-4

-168-4

-172

4) {7 -8+5×7-8×81}×7
{7-8+35-8×81}×7

{7-8+35-648}×7

{-1+35-648}×7

{34-648}×7

{-614}×7

-614×7

-4298

5) 8+1×[2 -2 ]+1×8+8
8+1×0+1×8+8

8+0+1×8+8

8+0+8+8

8+8+8

16+8

24

6) 6×{6-8 -48}×8-1+8
6×{-2-48}×8-1+8

6×{-50}×8-1+8

6×-50×8-1+8

-300×8-1+8

-2400-1+8

-2401+8

-2393

7) 6 -2+[5 -6 ] -40÷5×6
6-2+[-1]-40÷5×6

6-2+-1-40÷5×6

6-2+-1-8×6

6-2+-1-48

4+-1-48

3-48

-45

8) 8 -1+8-60÷[4 -7 ] -7
8-1+8-60÷[-3]-7

8-1+8-60÷-3-7

8-1+8+20-7

7+8+20-7

15+20-7

35-7

28

-45 -172 -4,298 24

28 -75 -2,393 83

1. 83

2. -75

3. -172

4. -4,298

5. 24

6. -2,393

7. -45

8. 28

     

Evaluate each expression.

Using Order of Operations
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